v & Pl

0| E:
1 1 1 1 3 1
_X_+_: _ X _m— =
575 2 272 3
lxl—l: 16+2—l:
6 3 2 6
] 3
§+8- 7= 88+ 11+ = =
3 2
] 32 1
405+ = = - X =+ ==
0+5+5 57376
] 1 1 1
54+-6— == —+ %X ==
3 77373

www.snowmath.com



https://www.snowmath.com

% ﬁ M B4 olh

111 27 1 3 1 5
— X -4 —= — _ X —_-— _ =
575250 2723712
11 1 4 1 47 5
63 2 (9 A

12 319 1
+8—— == =11+ -=—=9-
481 =2 88 =5 =9

1171 3 2 1 17
40+5+~-=— =8— —X =t ===
0=5+35=5 =85 5376 30

1 2 2 111 2
4+6— == =82 Shox =2
63 =5 =83 2737273

www.snowmath.com



https://www.snowmath.com

